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2024 

MATHEMATICS 

(Skill Enhancement Course) 

Paper Name: Quantitative Aptitude and Reasoning 

Paper Code: MAT-SEC-131 

Full Marks: 30 

Time: One and Half Hours 

(The figures in the margin indicate full marks for the questions) 

Answer either in English or in Assamese 

 

1. Answer the following questions  

তলৰ প্ৰশ্নসমূহৰ উত্তৰ দিয়া  

1x4=4 

 (a) If January 1, 2007 was Monday, what day would January1, 2008 

be? 

যদি January 1, 2007 স োমবোৰ হয়, সেন্তে January 1, 2008 দি দিন হ'ব ? 

(b) Rs.8400 is divided among P, Q, R in the ratio 2/3 ∶ 3 ∶ 1/3  

respectively. What is the share of R ? 

8400 টিো P, Q, R ৰ মোজে ক্ৰমোন্বন্তয় 2/3 ∶ 3 ∶ 1/3 অনুপোেে দবভক্ত িৰো হ'ল । 

R ৰ অংশ দিমোন ? 

(c) The simple interest on a sum for 5 years is 2/5 of the sum. The 

rate of interest per annum is _______.     (Fill in the blanks) 

 ৰল  ুে এটো মূলধনৰ 5 বছৰৰ দপছে হব মূলধনৰ  2/5  ।   ুেৰ হোৰ _______ । 

                                                                   ( খোলী ঠোই পূৰণ িৰো ) 

(d) If ‘SPECIAL’ is associated to 65, then which number is 

‘COLLEGE’ associated to? 
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যদি ‘SPECIAL’ শব্দন্তটো  65 ৰ স ন্তে জদৰে িৰো হয়, সেন্তে ‘COLLEGE’ 

শব্দন্তটো সিোনন্তটো  ংখযোৰ স ন্তে  জদ়িে ? 

2.  Answer the following questions.  

তলৰ প্ৰশ্নসমূহৰ উত্তৰ দিয়া । 

2x3=6 

 (a) A person travels from one place to another at 30km/hr and 

returns at 120km/hr. If the total time taken is 5 hours, then find 

the distance. 

এজন বযদক্তন্তয় 30 দি.দম./ঘণ্টোে এঠোইৰ পৰো আন ঠোইলল ভ্ৰমণ িন্তৰ আৰু 120 

দি.দম./ঘণ্টোে ঘূদৰ আন্তহ । যদি সেওৰঁ মুঠ  ময় 5 ঘণ্টো, সেন্তে দূৰত্বন্তটো উদলওৱো । 

(b) ‘A’ purchased a car for Rs.2,50,000 and sold it for Rs.3,48,000. 

What is the profit percentage? 

‘A’ সয় 2,50,000 টিোে এখন গো়িী ক্ৰয় িদৰ গো়িীখন 3,48,000 টিোে দবক্ৰী  

িদৰদছল । লোভৰ শেোংশ দিমোন? 

(c) Briefly describe two ways to represent data? 

চমুলি দুদবধ ‘উপোয়’ৰ বযোখযো িৰো যোৰ  হোয়ে েথ্য উপস্হোপন িদৰব পোদৰ । 

3. Answer the following questions (any two)  

তলৰ প্ৰশ্নসমূহৰ উত্তৰ দিয়া  (দিক াক া দুটা) 

5x2=10 

 (a) The present age of A and B is in the ratio 3:4. Five years back, 

the ratio of their ages was 2:3. What is the present age of both A 

and B? 

A আৰু B ৰ বেত মোন বয় ৰ অনুপোে 3:4 । পোচ বছৰ আগন্তে, সেওঁন্তলোিৰ বয় ৰ অনুপোে 

আদছল 2:3 । A আৰু B দুন্তয়োন্তৰ বেত মোন বয়  দিমোন? 

(b) A sum of money doubles itself at compound interest in 15 years. 

In how many years will it become 8 times? 

15 বছৰে চক্ৰবৃদি  ূেে এি পদৰমোণৰ মুলধন দুগুণ হয় । দিমোন বছৰে ই 8 গুণ হ'ব ? 

(c) The following data gives the number of children in 40 families. 

40 টো পদৰয়োলে থ্িো  েোনৰ  ংখযো েলে দিয়ো আন্তছ । 
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1, 2, 6, 5, 1, 5, 1, 3, 2, 6, 2, 3, 4, 2, 0, 4, 4, 3, 2, 2, 0, 0, 1, 2, 2, 4, 

3, 2, 1, 5, 0, 1, 2, 4, 3, 4, 1, 6, 2, 2.  

Prepare a frequency distribution table. 

বোৰংবোৰেো েোদলিো এখন প্ৰস্তুে িৰো । 

(d) Study the following carefully and answer the question below. 

েলে দিয়ো েথ্যন্তবোৰ ভোললি মন িৰো আৰু প্ৰশ্নৰ উত্তৰ দিয়ো়াঃ 

X @ Y means X is  son of Y 

X @ Y মোন্তন X, Y ৰ পুত্ৰ । 

X # Y means Y is  father of X 

X # Y মোন্তন Y, X ৰ সিউেোি । 

X ? Y means Y is  daughter of X 

X ? Y মোন্তন Y, X ৰ পুত্ৰী । 

X ! Y means X is  mother of Y 

X ! Y মোন্তন X, Y ৰ মোেৃ । 

X * Y means X is brother of Y 

X * Y মোন্তন X, Y ৰ ভোই ।  

Then, find out how is W related to K and J related to Z from the 

following: 

J @ K ! T * W ? X # Z 

সেন্তে উদলওৱো সয W আৰু  K আৰু   J আৰু Z ৰ মোজে  ম্পিত ন্তটো দি যদি 

J @ K ! T * W ? X # Z 

4.  Answer any one from the following questions.   

তলৰ দিক াক া এটা প্ৰশ্নৰ উত্তৰ দিয়া । 

10x1=10 

 (a) A family consists of two grandparents, two parents and three 

grandchildren. The average age of the grandparents is 67 

years, that of the parents is 35 years and that of the 

grandchildren is 6 years. What is the average age of the 

family? 
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এটো পদৰয়োলে দুজন িিো - আইেো, দুজন দপেৃ - মোেৃ আৰু দেদনজন নোদে - নোদেনী 

আন্তছ । পদৰয়োলন্তটোে িিো আৰু আইেোৰ বয় ৰ গ়ি 67 বছৰ, দপেৃ-মোেৃৰ বয় ৰ গ়ি 

35 বছৰ আৰু দেদনজন নোদে আৰু নোদেনীন্তয়িৰ বয় ৰ গ়ি 6 বছৰ । সগোন্তটই পদৰয়োলৰ 

বয় ৰ গ়ি দনণতয় িৰো । 

(b) The compound interest accrued on an amount of Rs.22000 

at the end of two years is Rs.5596.80. What would be the 

simple interest accrued on the same amount at the same 

rate in the same period.  

22000 টিোৰ মূলধনৰ চক্ৰবৃদি  ুে দুই বছৰে হয় 5596.80 টিো । এন্তি মূলধনৰ এন্তি 

 ুেৰ হোৰে এন্তি  ময়ে দিমোন  ৰল  ুে হব দনণতয় িৰো । 

(c) A person spends his time on different activities (in hours) 

এজন মোনুন্তহ দবদভন্ন িোমে খৰচ িৰো  ময়ৰ ভোগ দিয়ো আন্তছ (ঘণ্টোে) 

Activity Office Exercise Travel Sleep Eat Misc. 

No. of 

Hours 
9 1 2 7 2 3 

Draw a pie chart of the above data. 

ওপৰে দিয়ো েথ্যৰ পোঁইদচত্ৰ আঁিো । 
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